96 Transformations Lesson #3: Reflections - Part One

l.

Assignment

The graph of y = flix) is shown. Sketch the graph of y = —f(x).

3. The graph of y = f{x) is shown. Sketch the graph of x = f{y).
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2. The graph of y = fix) is shown. Sketch the graph of y = f-x).
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4. The function y = flx) is transformed to the function below. Given that there are invariant
points, describe the location of these points.
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s. 'Ihegraphdrawnmthethxckhnensatransformatxonofthegraphdrawnmthethmhne
Q Write an equation for each graph drawn in the thick line and state whether this graph

represents a function.
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6. The point (x, y) lies on the graph of the function y = f{x). Statethe
of (x, y) under the following transformations:

a) y=—fx)
reheon in X-axis
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@ (x,-Y).

b) y = f{-x)
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7. The graph of y = f{x) is shown. Sketch the graph of y = —f(-x). '
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8. The graph of y = f{x) is shown. Sketch the graph of x = f-y). \j—.-[—(_)L)
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O 9. The graph of @is shown. Sketch the graph of x = —f{y).
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NIHIREN10. Consider the graph of a function of fand the graph of a function g, where g(x) = {—x).
G Any invariant points must lie on the - =

A. x-axis
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C. liney=x

D. liney=—x
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O Use the following information to answer the next three questions.

A partial graph of y = f(x)is shown.
The y-intercept and all the x-intercepts are integers.
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11. If g(x) = -f(x), the iargest x-intercept of the graph of g is
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12. If h(x) = fi-x), the smallest x-intercept of the graph of his
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13. On the graph of x = —f(y), the y-intercept(s) is/are
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(Record your answer in the numerical response box from lefttoright..)
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